Why Law of Increasing Costs Exists

The bottom line is that resources are not perfectly substitutable—resources that are used in wheat production are not perfectly suited to produce tanks (and vice versa).

We are still in the two good world of wheat and tanks.  Let’s keep it simple and assume that farmers are equally productive and can each produce 20 wheat. (This will make our lives a bit easier.)  Let’s also assume that the country is only producing wheat—this would mean the country is on one corner of its PPF where it produces one good and not the other.

Suppose the country wants to produce its first tank.

· Resources would have to be taken away from wheat production and put towards tank production (we are sliding along the PPF).

· It would make sense to reallocate those farmers that have the strongest technical skills (perhaps from working on farm equipment) because they will be the most easily substitutable. 

· If the tank required 4 farmers with very strong technological skills, then 80 wheat would be forgone (4 farmers x 20 wheat)

So, the first tank has an opportunity cost of 80 wheat.

Suppose the country wants to produce a second tank.

· Again, resources would have to be taken away from wheat production and put towards tank production.

· Again, you would want to reallocate those farmers that have the next strongest technical skills (remember that we reallocated the “best” farmers who are now working on the first tank).  This would require using the farmers with good technical skills but who are not quite as good as the farmers making the first tank.

· Getting the second tank built will require 6 farmers who have good technical skills (they are not quite as skilled as the 4 who are working on the first tank).

· 6 farmers giving up 20 wheat each means that 120 wheat are foregone.

So, the second tank has an opportunity cost of 120 wheat.

Suppose the country wants to produce a third tank.

· Again, resources would have to be taken away from wheat production and put towards tank production.

· Again, you would want to reallocate those farmers that have the next strongest technical skills (remember that we reallocated the “best” farmers who are now working on the first tank and the next best farmers who are working on the second tank).  This requires using farmers with average technical skills who are not as good as those with “good” technical skills.

· Getting the third tank built will require 8 farmers who have average technical skills (they are not quite as skilled as the 6 who are working on the second tank and far less skilled than those working on the first tank).

· 8 farmers giving up 20 wheat each means that 160 wheat are foregone.

So, the second tank has an opportunity cost of 160 wheat.

In this case, the resource of labor is not perfectly substitutable between wheat production and tank production.  And, the tradeoff gets larger and larger and more and more tanks are produced.  So, effectively, the cost of tank production (in terms of foregone wheat) is increasing as more tanks are produced.

